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TEN DIRECTORATE OF SCHOOL EDUCATION
TAMILNADU

12NPCBO8 | NEET PRACTICE QUESTIONS | =20
(2023-24) (TEST-8) Total Marks: 240
General Instructions: Youlu b@/ Akwa Academy

1. The test 1s of 1.15 hrs duration and consists of 60 questions. Each question carries 4 marks. For each

incorrect response, one mark will be deducted

2. Shade your final answer in the OMR sheet provided.

3. Extra sheet for Rough work purpose, will be given by the invigilator.

PHYSICS Q.No. 1 to 15

1. If voltage across a bulb rated 220V, 100 W drops
by 2.5% of its rated value, the percentage of the
rated value by which the power would decrease 1s

A) 5% B) 10%
C) 20% D) 2.5%
220V, 100W wHLUNLUULL @ edlens s eor

SlerenWss Ceumum@®  2.5%  SjeralleSl@pngl

aflbFF emLwld  eTeoflev WS OLILL
Senallellha TSI  FHAIGL  Hmeor
S6mmULD?

A) 5% B) 10%

C) 20% D) 2.5%

2. A circuit element X when connected to an ac
supply of peak value 100V gives a peak current of
5A which 1s in phase with the voltage. A second
element Y when connected to the same AC supply
also gives the same value of peak current which
lags behind the voltage by n/2 If X and Y are
connected in series the same supply, what will be
rms value of current in ampere?

A) 10/V2 B) 5/\2

C) 5V2 D) 5/2

@ Werammlev X  eTedrm 2 mMILILITETS
QUEBL WS 100 V Q&mevor AC  wjLeor
@emeTS&ESLLUMGIL CUMEs HeL&EGSGWL GUEHLD

10leoT@eoTITL_LLD  5A =608l LOleoTeom (W& &5 S L60T

RCT HLLSHEV 2 6TensSl. @)TevorLTeud 2 miLlL]
Y 9165 AC apmSBuLer @ eeneorsasULpIn
CUME 265 I6mal QUL WeTGTTL L &HenS,
26fl&EHMme,  whon  OETENWSS5 S SIL 6T
/2 SLL Geumurmligey eorsms 2 emengl. X
INMMILD Y 6@ eupmBIHIWL 60T Q&L flemevorLiLilev
@ emetoTd&SLULIGIWL Cung WlerGer L LSS 60T rms
S Len L 2 blwirflev smevorss

A) 1042 B) 5/\2

C) 532 D) 5/2

3. In the series LCR circuit the power dissipation is
through

A)R B) L

C)C D) Both L and C

LCR QsrLy wWeragmmley HmeT @LOLIL] 675 60T
aBbIGW emuB LD

A)R B)L

Q) C D) Both L and C

4. An AC source 1s connected to a capacitor C, due to
decrease 1n 1ts operating frequency

A) Displacement current increases
B) Displacement current decreases
C) Capacitive reactance remains constant

D) Capacitive reactance decreases
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WerGssem C  wrmerg  AC
@) 60 600T S HLILIL (H6TeS. @ &lev
215 7 G\ 6U600T GemMmULD G

OV S SIL 60T
G\W&HH
A) @LUQUWIEFF leorGeoT L L LD H &flH &0
B) @LLUQUWIEFSF WlerGermLL LD GemmHma
O) WlerCs85 wileor WleoTMILIL] LOMMTS
D) WetT @5 & & ulledr LAledTLOMILIL] G6emmU]LD
5. A capacitor of capacitance 150 pF 1s connected
to an alternating source of emf given by E =

36sin(120mt)V. The maximum value of current in
the circuit approximately equal to

A)2 A
B) 1/\2 A
C)V2 A

D)2V2 A

WMoHens WeTGeTTLL epeuSSHILer 150 pF
WeTCs5&HHMmer  QaEmeorl. WlarGs &6
@) 60 600TSH & LILIL_(h6ITeTS). Q&EMH&SHUILIL L
Wetr QW& ollems E = 36sin(120xt)V  eTenflev
Weragmmlev 2 6itemn QUEBHLD - LSl 6T G6or ML L& & 6T
WS LI CSMIMWLDITS..

A)2A
B) 1V2 A
C)V2 A
D)2V2 A
6. Inanoscillating LC circuit, the value of inductance
1s 1.6 mH and the value of capacitance 1s 4 puF. If

the maximum charge on the capacitor 1s 4 x 10~
C, then maximum current 1s

A) 75 mA B) 12.5 mA

C) 125 mA D) 50 mA

QM emevamild LC sFmnilev, wlergmevorig udleor
WS 1.6 mH nmmid Wler GxH&H ulleor DS LIL]
4 pF, BeTCs & U6t QUEBLD WleTemL L D& LIL
4 x 105 C eTénflev QuBLD LledT 6ot ML L_LD

A) 75 mA B) 12.5 mA

C) 125 mA D) 50 mA
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7. 1f 120 V, 60 Hz, AC voltage 1s applied to an LR
having R = 100 ohm and L = 2H, then current in
the circuit 1s

A)0.32A B) 0.16A

C) 0.48A D) 0.80A

120 V., 60 Hz wmmSens Wlereorsdssn LR
FOMIGES QFNGSULGHME, LR smmlév R =
100 gaLd DMMILD L = 2H eTenflev Wlearamnilev 2 _eimerr
LOl60T G6DT ITL_L_LD

A) 0.32A B) 0.16A

C) 0.48A D) 0.80A

8. In LCR series circuit, an alternating emf e and
current 1 are given by equations e = 100sin(100t)
V. and 1 = 100 sin (100t + n/3) mA. The average
power dissipated in the circuit will be

A) 100 W B) 10 W
C)5W D)25W
em LCR  @QsmLy &mnlev LIS ens

WleoreoTWS S0 e WMmMID WleTGeoT ML LD i-@) 60T
Feool GBI WHLILISGET WemBW e = 100 sin
(100t) V, tomouid i = 100 sin (100t + n/3) mA, eTenflev
Wleorarmmlev Frnsiflung @ L&sLUILLL Smeor ...

A) 100 W B) 10 W

C)5 W D)25W

9. A particle of mass m moving with velocity u
collides elastically with a particle of mass 3m at
rest. After collision the heavier particle moves
with velocity

A)u/3
B) 2u
C) 3u

D) u/2

U HesFCaussHey BSHMHWLD a BlenmuemnL
QI QUTIHET elle mlemevulley 2 6Tem  3m
BlemmulemL il QuUTEEsLer WLF Gmsev
216D FH MG 660l 16V GLOMSH IS G LI LI60T &560TLOTE0T
QUITHET BHHLD HlemFGaIsHLD.
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A)u/3
B) 2u
)30

D) u/2

10. A billiard ball moving with a speed of Sms™
collides with an 1dentical ball, originally at rest.
[f the first ball stops dead after collision, then the
second ball will move forward with a speed of

A) 10 ms™ B) 1 ms™

C) Sms™ D) 2.5 ms™!

Sms”! GaussSHev QFevsn evedlwiLl wLbs
QRTN, QSMTLESSH e Blemevuilsy
2 aTem B85 wWLMHflwmer UGBS R60TMIL 60T
CMa®Hma. CLMSGEGL 6T (WwsHev UBS
BlemeuTE BIM&B M 6Tevfl6v G)TevorLMeUS! LIBS
6T CeoT & BS(HLD GeusdsLD.

A) 10 ms™ B) 1 ms™

C)5ms™ D) 2.5 ms*'

11. A ball strikes a horizontal floor at 450. 25 % of
its kinetic energy 1s lost in collision. Find the
coefficient of restitution.

A) 142
B) 1/4
C) 12

D) 1/22

Ubgs eerm Seoguwler Was HeoLSser
FengFullev 45 CommeorsHev CGLMEHFRMS.
Gmgedler GUMS 25% @QUWEH UMMMV S
@QLEFR M ereflev WL FweflliL] GeooTsSHems
&IT600T 5.

A) 1A2

B) 1/4

C)1/2

D) 1/212
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12. A bullet of mass 20g and moving with 600 ms™
collides with a block of mass 4 kg hanging with
the string. What is velocity of bullet when it
comes out of block, if block rises to height 0.2m
after collision?

A) 150 ms™ B) 300 ms™!

C) 200 ms™' D) 400 ms-"

20 g mlemm wWMMID 600 ms' HenFGeUd:SHSIL 60T
FHMHLD CHTLLT @erm SWlm searmlev QMRS S
Q& MEUOTIL (F&HEGLD 4 kg Mlemmulemer SLemLuller WO
CuMsIHmsl. CLmesaasEL e sLenLwimenrs 0.2 19
2 WIJD 2 Wihsmey SLemLenw oL@ QeueflCGw
U@L CuMs G L Lmelledr &emaGeoudsLn eTedT6r?

A) 150 ms™ B) 300 ms™'

C) 200 ms™! D) 400 ms™!

13. A block of mass 0.50 kg is moving with a speed
of 2 ms™! on a smooth surface, it strikes another
mass of 1 kg and then they move together as a
single body. The energy loss during the Collison
1S

A)0.67 ] B)0.16J

C)034] D)1]

050 kg mBlemm GQ&MetoTL. 6(H &L 60 WITETS
QlwealpLiLImenr LIFLILew 2 ms eTeorm Goud S Hl6v

BHEGHMS, 318 LOHAOI® 1 kg Blenmuier el
Crs @Gy QUITEHETTEH BEHMHHPIMS 6Teflev

GLorge0letr GLIME eFMUIL L. SL,MMmev @) LpLIL|

A)0.67] B)0.16

C)0.34] D) 1]

14. A particle of mass m moving with speed u collides
perfectly inelastically with another particle of
mass 2 m at rest. Find the loss of kinetic energy
of system in the collision.

A) 0 B) 1/3 mu?

C) 1/2 mu’ D) 1/5 mu’

u GCaussHev MBS HSET QTM 6l
Blemevuiev 2 6Tem 2m BlemmMUWETET MHGMITTH
Qumerfleor Ws W WLAwWwmmM GCursedlev
FOUBSBMmSI ereoflev Gnngedledr GUME gmu (b
S MM6eL @LPLIEDLI &ITE00TSH
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A)O B) 1/3 mu?®

C) 1/2 mu? D) 1/5 mu?

15. A ball falls from a height such that it strikes the
floor of lift at 10ms™. If lift 1s moving in the
upward direction with a velocity Ims', then
velocity with which the ball rebounds after elastic
collision will be

A) 13 ms™ B) 11 ms™
C) 9 ms™ D) 12 ms™
e GOUILL 2wrsHelmns  10ms

CausSH 6L AL LBS eTm Tms' CaushsHev
Gev CBMESH B WleTEHTSH & UI6T &Hems S ev
CUMEH M erenflev LB WLF CnseuenL bHE
GV LDL|LD HlenFGausLD.

A) 13 ms™ B) 11 ms™'

C) 9 ms™! D) 12 ms™

CHEMISTRY Q.No. 16 to 30

16. A button cell used in watches function as

following If half cell Potentials are

Zn, +Ag,0,tH,0, — 2Age + Znim + 20H 4,
Zn+ 26— Zne E° =— 0,78V

A0 + H,0 (1) + 2e — 24g) + 20H E° = 0.34V

The cell Potential will be

A)0.84V B) 1.34V

C) 1.10V D) 0.42V

MEEEHUESTIRSEGMe uweTu(G b wWlerseuld
Wletreu BTN QFWeLBHISmS.
Zn,,+Ag,0,tH,0, — 2Age + Znia + 20H
Zngy+ 26 — ZngE° =—0.76 V

Ag:Oy+ H,O(l) + 2e — 2A4gy + 20H» E° = 0.34V

GLDM 55600T L 2|60 7 LSl eor F605 5 6V
WereorpSSmSefley Q@ pbha  LetTSH6vE 5 6ot
60T YWDSHHHM S 560015 H) (h 5.

A)0.84V B) 1.34V

C) 1.10V D) 0.42V
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7. A hydrogen gas electrode 1s made by dipping
platinum wire 1s a solution of Hcl of PH = 10 and
by passing hydrogen gas around platinum wire
at one atm pressure The oxidation potential of
electrode would be?

A)0.118V B) 1.18V
C) 0.059V D) 0.59V
PH = 10 eo6dremr HC SeopgsFedey enpsH

maug&sUUL (eTer emmligeortn wledreumul
ELOGULD EDQULY [TE60T GUITL] 2 (HeUM&ELILMSMmS..
o6 o6l JWSSSHH0 Weraumenw & mhol
60) QU L[] 2 60T 6UIT U QFLHMS eT60r 160
Wl evreumuileor u86rdle2@sormm HMET 6T6T60T?

A)0.118V B) 1.18V

C) 0.059V D) 0.59V
18. When 0.1 mole of MnO,* is oxidised the quantity

of electricity required to completely oxidise to
MnO,* to MnO -

A) 96500C B) 2 x 96500C

C) 9650C D) 96.50C
0.1 Gumev MnO,” 88 MnO,” g&eilgGarmmLD
QML W F Q& LWl (G & 60)6U LI T60T
LAl 60T G 60T ITL L& 55\ 60T 2{61T6Y 6TE0T60T?

A) 96500C B) 2 x 96500C

C) 9650C D) 96.50C

19. A Derice that converts energy of combustion of
fuels like hydrogens and methane directly 1s to
electrical energy 1s know as,

A) Fuel cell
B) electrolytic cell
C) dynamo

D) Ni-cd cell

60 QU L_[J 2 60T L0 M MILD 158 @ 60T IR
erflQuUmBL&emeT 6TflILS6T enevld  GLUmILD
iflgzey Qauliusems GBS  LOETETMMEVTS
DTMMILD SHedl 61517?

A) erflLAl6dTS VLD

B) WileoT L@ 6rfl LAletTa6VLD
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C) e LeoTGLOIT

D) Ni-cd wledr&euLn

20. Aqueous solution of which of the following
compounds 1s the best conductor of electric

current?
A) CH,O, B) HCI
C) NH, D)C.H.O.

etteu@pld Gpomserfler BIs%s SHempFeuserley
618 FmHS WOl6TEHL & 5)?

A)CH,O

2 472

B) HCI

C) NH, D) C.H,20,

21. The molar conductivity of a 0.5 mol/dm3 solution
of AgNO, with electrolytic conductivity of
576 x 10 cm™" at 298 K. 1s,

A)2.88 S cm?/mol
B) 11.52 S cm?/mol
C) 0.086 S cm*/mol

D) 28.8 S cm*/mol

298K 6V WletTsLSSIHmer 5.76 x 10~ cm™' 2_simerT
0.5mol/dm’ semg&Fedleir GLameun HL &S5 H men6ors
& 60015 5 (h) &.

A) 2.88 S cm?/mol

B) 11.52 S cm?/mol

C) 0.086 S cm?/mol

D) 28.8 S cm?/mol

22 If the E° cell for a given reaction has a negative
value which of the following gives correct
relationships for the value of AG® an K eq?

A)AG°>0;Keq<l
B) AG°>0O; Keq>1
C) AG°<0;Keq>1

D) AG°<0O; Keq <1

www.Trb Tnpsc.Com

QEMOH&SUILLB6TeT 6@ WearsausHer E°
cell QueoTd TH T S LIS, geoTmmev AGC
NMMID K FWOPFlMeVEESID 2 6Tem Q&ML [J6m L
Lletreu@ld Q&ML &erlev siflwmers e1si?

A) AG® > 0; Keq > 1

B) AG® > O; Keq > 1

C) AG®° > 0; Keqg > 1

D) AG® < O; Keqg < 1

23. The number of electrons delivered at the cathode
during electrolysis by a current of 1 ampere 1n 60
seconds 1s (charge of electron=1.60 x 107°C)

A) 6 x 1023
B) 6 x 102
C) 3.75 x 107

D) 7.48 x 10%

1 lwug Wbler Fosamnss Qsmeuor(h
60 QBMOSEeT Wereormm USSESWL GCuMs
oI B\ 7Ll 6dreu mullev QeuefluiL Liu@In
616V & L_[J MedT&s 61t | 60T 6T600T 60011 8560 & 6T60T 60T ?
(erQeu&L_menfledr WlearsemLn - =1.60 x 10°C )

A) 6 x 10

B) 6 x 10°°

C) 3.75 x 10%

D) 748 x 10%

24. The radical ©— CH,- is aromatic because it
has,

A) 7P orbitals and 7 unpaired electors
B) 6P orbitals & 7 unpaired electrons
C) 6P orbitals & 6 unpaired electrons

D) 7P — orbitals & 6 unparted electrons
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@-CH; gearm 2 oIy SCrMGLLIGE
S60Te0 LD |60 L LIS 6JGlenTént]ev,

A)7P S FTUILLM6L&GET WmHmID 7 SflsHs
6TEI6VS LT ITEOTSH6IT

B)6P uFLILLMEVGET WMmmID 7 SHeoflss
6TGI6L S LT TEOTSH6IT

Q6P - rULLmeuseT LMMID 6 SaflsHs
6TGI6L S LT TEOTSH6IT

D)7P uTUlLLMeVSEeT WMmMID 6 SHeflss
6TGQI6V & L[T IT60T & 61T

25. The structure of Isobutyl group in a organic
Componds is

A) CH ~CH ~CH ~CH -
CH.

B) | J
CH,~C—
|

CH

3

CH,
C) >CH—CH2—
CH,

D) CH,~CH-CH,—CH,

@M &flln CGFiwgHev NCGFm  LlwLemLey

2 mILILedr SyemLOLIL] 6T60T LIS
A) CH,-CH,~CH_—CH,-

CH,
B) |

CH,—C—
I
CH

3
Git,
& >CH—CHE—
CH,

D) CH ~CH-CH ~CH_

26. Some meta directing substituents is aromatic
substituents are gives. Uterich one is most

deactivating?
A)—COOH B) -NO,

C)-C=N D)-SO.H

www.Trb Tnpsc.Com

Gy MGELOL 19 & LS 60 ()LD ellem eor S 61l 6L
Fev QuLLT eafl BLESD QSTSGH ST
SrluL(hememenr. aummley 618 W& UH&HIMSH

Q& WELH MM 6T G MEHMS.
A) -COOH B) -NO,
C)-C=N D) -S0.,H

27. Which of the following organic compounds
has same hybridisation as its combustion (CO,)
product?

A) Ethane B) Ethyne

C) ethene D) Ethanol

UletreumLd &iflln GFFLO(OL, SHsemL W 6TIfl56v
allemerLIQUT@GETTHIW CO, b Gy elgLnmeor
SHEVLILI60TLO S &6m 6V G\LI M MI6ITET6oT?

A) T &G & 60T B) FF&60)& 60T

C) /& 5601 D) 618 60T TV

28. Which one 1s most reactive to wards nucleophilic
addition reaction?

@CHO
A)
0O

CHO

g

CH

CHO

(o)

NO
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FHHHSHT CFI&HmMSE allemenruilev & H &IOMSH
allemeor L fl LD S560T6mLOWL|60) L WIS 6TSI?

CHO
A)

S

C-CH

&

CHO

C)

~9)-

CH

CHO

(o)

NO

2

29 Which of the following compounds will
undergoes racemisation when solution of KOH
hydrolysis?

A)@

B) CH,~CH,—~CH.—CI

CH.ClI

CH,
C) |
CH,—CH—CH,—Cl
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KOH @Q&meoor(h) BymmU@GSHSLD Cunmgl LereusLd
GFnMmIGe eV 618 ST S6eVen 6l MELD
allemerrES 2 UGB mE?

CH,ClI
NOf
B) CH~CH,~CH,~CI

CH,
C) |

CH,—CH—CH,—Cl

CH

3

D) H—C—Cl

CEHS
30. In an SN, reaction as chiral Centres there 1s
A) 100% racemisation

B) Inversion more than retention leading to partial
racemisation

C) 100% retention
D) 100% inversion

60)&HJ6V 460 LOLILY 60T L&! SN, el6m 60T LI 60T HM&H&LD
A) 100% &+ LOILOIT UL 856V60)6UWLIIMTE6V

B) @JemLoLIL] Blemev QLIMISGSEm6L (retention) eT&HI T

FLOHFAWTHEV (Inversion) B S&LOMTS6EVTEV
UGS GOl mul & 6060 6Y LLI TS (& & 6D) 6V
o (HEUMTHSGSH M.

C) 100% =emLDLIL] Blem6v GlLIMISSE6D

D) 100% 2emLOLIL] 6TH [T LOMISH6V

BIOLOGY (BOTANY) Q.No. 31 to 45

31. Gene amplification using primers can be done by
A) Microinjection
B) ELISA
C) Polymerase chain reaction

D) gene gun
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LlemLomg&emer @ &meoor(h) LO [T LI 600 & & 60) 61T
QU(HSSH LML G&F WD (LNemMm
A) B1600T 2_L QI&FVSH S SH6V
B) ELISA
C) umedln@oenv &M 60 ellemeor
D) &560T SILILIMESS)
32. T1 plasmid is obtained from
A) Bacillus thuringiensis
B) Agrobacterium tumefaciens
C) Agrobacterium rhizogenes
D) Escherichia coli
eteummlev @ @H S Ti LNermerudl(h) QuUDUILGRM S
A) GUIFsveveny Sifleh & W edT Feu
B) &1&@ymumseflwid 19 uw,Gu& wisreny
O &CrymumsLerflwb enyCasmbleleiren

D) etenVQ&F IS IWiIm C&memey

33. Restriction enzyme, which cuts by sticky end is/

are
I. BamHI II. EcoRlI
[1I. Hind III IV. Alul
A) L II, 111
B) L IL IV
) IL L 1Y
D)L IIL IV
6L (hILD (LD 60) 60T & 60) 61T S1600TIQ FH&H o 1Q L
S0 &L (h QB TS (SFH6T) eTemeu?
. BamHI ll. EcoRlI
[11. Hind Il V. Alu |
A) I, I, HI
B) I, II, IV
Q) I, i, v
D) I, I, IV

www.Trb Tnpsc.Com

34 Which one of the following not used as SCP
A) Lactobacillus
B) Yeast
C) Chlorella

D) Methylophilus methylotrophus

GpseooTLeummiey 618 S0l Q&FLTSHMSEHL
LUweTU®SS L L(heuHlevemen?

A) Geu&EBLITEUF6v6VEN
B) FFeruL
C) &GeTmRITeVeLIT

D) QLS 6m &5 GeuimsLileveveny
QIS MG G6VITLGIT TS LGN

35. is a common laboratory technique used to
make copies of a particular region of DNA.

A) ELISA
B) PCR
C) Gel electrophoresis

D) Electrolysis

DNA alletr GMILULL UGH &HemeT HHeVEHETITS
2 _(HeUMHSL LUweru(sSSULBIL 2 U6eus
QeTWlLHIL LI

A) eTe) eV & T (ELISA)

B) Lmedln@oenv &6l allement (PCR)

C) @woo wWledreor LIl

D) WleoreormmLI Ly

36. Identify the correct statement

Statement I. Any process after fermentation is called
Upstream process

Statement II. Metabolites produced for the
maintenance of life process of microbes are known
as primary metabolites
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A) Both are true
B) Both are false
C) I true II false

D) I false II true

grilwimest Sommlemeor SevorL M5

Faml |. QBETHSSNNGHSL UmE& HemLGLmLD
Bl&LLe CLMSTEL LISLILIMESSISH6V 6TeorLIL(hILD.

For D ) I 151 evorenmy U9l rfl & erfl 60T o ullrr
Q& LIV (LNED M SHEM 6L ugmwrfllusmnsms
2 MLSH Q& W& 19 LLIEME (LD 6EVIBl6DIGV

QUETITFemSLOMMM QUITIHL 6T 6T6or LILI(HILD.
A) @uesar LD &l
B) @ 7evor(hILD Seum
O | &, | Heum

D) | Seumy, 1l &Fif]

37. Statement I- Cloning vector is used to cut DNA
insert

Statement II - Expression vector is used to produce
clones of the DNA insert.

A) Both are true
B) Both are false
C) I true II false

D) I false II true

Fodm | FHVTHS STRHBHLEH DNA
QI &F(HFHEM 6V SI600TILHH MS.

Fam 1l -  QeellUu®sSsin STES
LSS Wmers DNA Q& (H&H6VSH6rTI60T 556U &6 6T
2 MUSH QFWHMS

A) @ geor(hLD &rfl

B) @ 7evor(hILo SHeum)

Q) | &l Il H6um

D) | Seumi Il &Frfl
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38 Identify incorrect statement with reference to
pBR 322

[. It 1s expression vector

[I. It 1s reconstructed vector

[II. Three marker genes

I'V. 322 represents number of basepairs
A) Il and IV B) I and III

C)land IV D) 1, 1l and 1V

PBR 322 &MIH 5 &6UMTEIT JoM6ED M 556007 L M) S

. @& @ QeualllLGSSID STHINSL 55

. @8 @@ ILNFTmMSESLILULL SMHESSHL 55

1. eLOGOT D) 2 60) L WLIITEIT LOMJ LISTDI &5 61T

V. 322 6T60T LIS SITIT () 60) 60015 61T| 60T 6T600T 6001155600 5
A) Il and IV B) | and Il

Clland IV D) I, Il and IV

39. Infoldings of mitochondria are known as
A) Cristae
B) Matrix
C) Cisternae
D) Thylakoids
e GL & mevor L_flwngssserfleor 2 6Bl Flser
A) &\rfleuGL
B) oL fl&en
C) FleruLrr Geor

D) em&SH V&M (h) &6lT
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40. Identify correctly matched pairs

[. Chromoplast — Contain pigments other than
Chlorophyll

[I. Leucoplasts — Devoid of any pigments

[II. Amyloplasts — Store proteins

[V. Aleuroplasts — Store o1l and fats

V. Elaioplasts — Store Carbohydrates
A) IT and II1 B) Il and IV
C)IVand V D) I and II

Frilwmeor @)6m6oTen) WL &600TL M5

. GGrmELmieTmeuL - LIFem&FWLD SelM& S

LN mmlm il et
. eflw,Bsmullemmerv — BIMLASH6ET M memneu
1. emL@evLilemmerul — Ligs G&LAlLIL]

IV. 269w GrmuilemmeruL. — 6TeoorQ 6uoTld, Q& TIQLIL]

Ga il
V. @emeuGuimLiermerul - STTCLmemamL GIL
G il
A) Il and Il B) Ill and IV
QO IVandV D)l and I

41. Identify correct statement with reference to
Plasmodesmata

A) Lignified cemented between cells
B) Locomotory structure
C) Membrane connecting nucleus with RER

D) Connection between adjacent cells

Nermeu@um@Len@GulLr mss  Frilwmer

Fa[DEDIM &600TL M) &

A) QFVEEFEHEG  @emLwilevmeor 69l g enfledr
QU6

B) @LUQUWITEF &M jemLloLiL|
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Q) 2_L s @melement RER 6)L_60T (2)6M600T& (S50 F61U6)

D) 3 (H&(HB&H 2 66T Gl &F6V 8615 & T 6t L G WL meor
(@) 60 600T LIL|

42 Which of the following 1s mismatched?
A) Cell inclusions — Glycogen granules
B) Microbodies — Peroxisomes
C) Centriole — Membrane bounded organelle

D) Ribosome — Non membrane bounded organelle

& Lp & ev0r Leumnilev TS SeUMITS
QUMHSSUILIL (H6Termg?
A) Q&L 2 L QUMTBLSET - SemerGameaenr

815 61T& 61T
B) [BI600T 2_L_6UMI&6T — QU MTEHerOG&F ML &6l

C) QerLflGwmey - Feuallermsv GLOLILIL L
5 600T SO0 I LIL| & 61T

D) empGUM@FMID - &Feualleormey GLLILILMTS
I51 600T SO0 M) LI L} & 61T

43 ldentify correct sequence of bacterial cell envelop
A) Cell membrane — glycocalyx — cell wall
B) Glycocalyx — cell wall — cell membrane
() Glycocalyx — cell membrane — cell wall

D) Cell wall — glycocalyx — cell membrane

urmsLeflw Q& ev 2_emmuileor &rflw meor eurflem e
& 600T L)) 5.

A) QFevFeUe - SamsECETCHEGen -
Gl&FeL&HAUT

B) ®emensCHEMTRHNHN -
Q&L &F6UGY

QFVGFAIT -

C) Denen&HCHETCHOFG -
QFeL&HGUT

GlFeL &Feue| -

D) QFeu&aT - SeoeansECsmGsHeilsen -

QI FeLF6URY
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44 Middle lamella 1s composed of

A) Glucose
B) Calcium pectate
C) Glycoprotein

D) Peptidoglycan

QI FevedletT @)L L(HISHE TSHE0TTEV 2L 60TSHI?
A) GEH&HESHTEN
B) &MeLFI WD QUESGLL
C) B ememd:CamLGCrimLLQ 60T

D) QUL GLIT& eme6rsseor

45 Match the following

Column-I Column- 11

a. Endoplasmic

reticulum (1) Stack of cisternae

b. Spherosome (2) Store oils or fats

c¢. Dictyosome (3) Synthesis and storage of

lipids

d. Peroxisome (4) Photorespiration

e. Elaioplasts (5) Detoxafication of drugs

a b C d e
A) 5 3 1 4 2
B) 3 4 2 1 5
) 3 1 2 4 5
D) 2 4 1 2 5
QUMHSH S &
Column-I Column- 11

a. eTevorGLmenme
6UEDY6V — (1) FervLrrGeor

EOEIGE:T

b. eV LICI M B&MLD&6IT — (2) 6T600T G 600T L, QS TR LIL
Go iy

www.Trb Tnpsc.Com
. 9&QCWMGsMI&GeT — (3) LG 2.muss
LMo &Ll
d. QUIMTSHErS & mn& 6T — (4) eperflareums D

e. @emeuGWITLIeTTen L& 6T — (5) LO(HH S g6l eor

B&F& B&HSLD
: b C d -
A) 5 3 1 4 2
B) 3 4 2 1 5
£l 3 1 2 4 5
D 2 4 1 2 5

BIOLOGY (ZOOLOGY) Q.No. 46 to 60

46. Normal breathing rate in human 1s

A) 100 per minute
B) 12 per minute
C) 38-40 per minute
D) 60 per minute
L0601 5 6011607 @) U6V LITEOT &r6UMEF IS LD
A) e® BIULSHNHE 100
B) @@ BIOIL5H MS 12
O @ bILIL5S DS 38-40

D) @ BIUILSHMS 60

47.A large proportion of oxygen remains unused
in the human blood even after its uptake by the
body tissues. This oxygen

A) Acts as a reserve during muscular exercise

B) Raises the pCO, of blood to 75 mm/Hg

C) Is enough to keep oxyhaemoglobin saturation
at 96%

D) Helps in releasing more O, to the epithelial
tissues.
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2 Ly H&Essarmen 2 MiepsFuul L WmELD,
2 SHFQe0r QUBLUGH Wwealls QUsss5H 6
LIWeT LB SSLILILITLO6Y 2_6TeNSl. @) & 2,5 F 2601
24,6015

A) sl LWlmFulleor GUME @@ @ HLIL L
QUITEHETTS Q& WeuLI(hHms

B) QUgs5Hetr pCO, & 75 mm/Hg &

2 LWISSH MG

C) sellamCumE&CenmUiller GQ&FMley, L Lemeu
96% @)6V M6USH (HSHE CUIMSILD TS

D) TS0y H&HEHEHES HHS O,
QeverfluiL 2 sa P ma.

48. If the thoracic wall but not lungs 1s punctured
A) The lungs get inflated
B) The man dies as the lungs get collapsed
C) The breathing rate decreases

D) The breathing rate increases

mlengugev S|6V6VITLOGY LOM L& SreuUly
Slememuil LIl L mev
A) Bl T uTTeL 65 &L B MmS!
B) memuigev Flen & 6US Moy LD 60T & 60T
@ mb 3 6l (b)6u et

C) Faunmg gD GanmH M

D) &eungF aislh H sFlEHme

49. Choose the correct combination of labelling from
the given options.

A)I- Nose, II- Bronchus, II- Larynx, IV-
Diaphragm, V- Trachea, VI- Lung

B) I- Nose, II- Larynx, III- Bronchus, IV- Lung,
V- Diaphragm, VI- Trachea

www.Trb Tnpsc.Com

C) I- Mouth, II- Trachea, III- Larynx, IV-Lung,
V- Diaphragm, Vi- Bronchus.

D) I- Mouth, II- Diaphragm, III- Trachea, IV-
Bronchi, V-Larynx, VI- Lung

SLOsEMTHSESLUUL LIS I QUIMTIHSSL0MeoT
eTetoreuot | MG flw LUMSHEISGET Gml&sUul L
allemLenWws CHIHES(HE & LD

A)l- BRF, - eNFSHEHMTEH GHLOEVSET,
-  &Jeveuemer, V- 2 ggalgsmerid, V-
eLNE & & LD6Y, VI- memguigeu

B) I- BITH), |- &Teveuemen, lll- eLNEFF+& Femernss
&weuser, V- memguigey, V- 2 srellgmeorid,
VI- eLOF & &HGS D6V

C) - eurrwd, ll- eF&HEHEGP, |- GSGIeveuemer,
\V-miemguigev, V- 2 spallgmern, V-
NG & SHEMETE GL0VS6T

D) I- eumid, - 2. srellsmeorid, lll- eLNF &5 L6V,

V- eLDESH ST eMeTSH GV V-GIevealemer, Vi-
menguiev.

50. The largest amount of CO, 1s transported by the
blood as

A) CO, n the plasma
B) H,CO, in the plasma
C) Bicarbonate 1ons in plasma

D) Bicarbonate 1ons in the erythrocytes

QUS55 60 2188 emey CO, HLSHSLLIG S
A) @565 Wermerunmeilev CO, 6ums
B) @ussL Lemmsruomallév H,CO, auns

O @ussll Wertmevwmmelley  emuUSTTLG6TL
2607 S 6ITITS

D) @555 FleuliLgn&Hs5erfley enusSsmTLGeTL

260 SH 6T TS
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51. The amount of air inspired or expired in each
normal breath by man s calledas .............

A) Tidal volume
B) Total lung capacity
C) Inspiratory capacity

D) Residual volume

L0 6071 &60T 6L @) LLIEVLIITEOT 626UG 6UIT(H & 6UTHF & 5) 6ot

GUMEILD 2 GMGeMmMILD &SMTMM  6V6eVG
QeueflGuMmILD &TMHMIET Q& ITETETETEY, ............ 6T60T
2MLSESUILUGS mS

A) LDESHSSTH DM 6T6Y

B) QLTSS Hmemguigev Q& meTererne| & meor
C) 2 L&aungs5 S meor &Hlmeor

D) 6TH &Ll QS ITEITETEITEL

52. Assertion : If these 1s no air in trachea, 1t waill
collapse

Reasons : Trachea 1s without cartilaginous rings.

A) Both assertion and reason are true and reason 1s
the correct explanation of assertion

B) Both assertion and reason are true but reason 1s
not the correct explanation of assertion

C) Assertion is true but reason is false

D) Both assertion and reason are false

Fa DO CLNF &S G606V SHITMH M &) V616V 6TE0TM IOV
3i8 Flenghg (LD

& T[T 600TLD: LN EF G & G606V & H560 58N
61 60 61T LLI Ml &5 61T &5T6voT LI LI (h)6u B 6vemev.

A Famm WMHMID &SMyeorld @Uetor(Gd  &Fifl
LOMMID ST Sammimsmeor &iflwmeor
Ml 6m& & LM G LD

B) M OMMIID &HTyeoord @ Uetor(H\td & ifl
SLEOTITEV &IMTIeooTld JmmMIm&smeor &1l wlmeor
Nl6T&H &S LD 3]6V6V

Q) Famm &Fifl STFetOTLD &6UMTETS)

D) &M WmMID &SMpeoorld @ revor(h)D

561 M) TEOTED) 6L

www.Trb Tnpsc.Com

53. Which of the following step of translation does
not consume a high energy phosphate bond?

A) Peptidyl transferase reaction
B) Aminoacyl tRNA binding to A-site
C) Translocation

D) Amino acid activation

191 65T 6u (1H 6u 6OTEU M Nl 6V QL MWBIQUIW & & 60 60T
6Ths U Blemevuiley 2wy Qmmev LmenGuL
L emevor LI LiwettL(h &5 LU 6uSH 6v6em6v?

A) QUL 6ML6V L9 [JITeiTen &GILIGT6N 6T&Tellemeor

B) LAIG6OTIT 26&FEV L T.6Te0T.6) A-B)L &SI 60T
LYl e evoT LILY

C) @LwmmmLwn
D) &y8lGeorm =levid QFWeLLI(H S SIS 6V

54. During initiation of translation in prokaryotes, a
GTP molecule 1s needed 1n

A) formation of formyl-met-tRNA
B) binding of 308 subunit of ribosome with mRNA

C) association of 30S mRNA with formyl-met-
tRNA

D) association of 50S subunit of ribosome with
initiation complex.

vuGrmasmflCwmlsefley QUMPBIQUW TS 560l 6ot
QSTLESSH 6T CUME, 6@ GTP eLVSH I MEGES
CxemeuLiLI(heug

A) SUIMTTeMLN6D GLOESE GUIITen6oTe0T S5 L0
6TEOT.6] 2_(HEUMHEHSH MG

B) &M1& un.eteon.g eLer flGUMGaFmdleor 30S
1606007 260G LIlemeuoreu &M &

C) &UMTTeMD6Y QNS H Guimemenredr 2 Leor 30S
S 24,J6T60TE] @) 6M6TT6US D&

D) Q&MTLEH Jal Lemolil 50S flGumGsmi
&1 6D)600T 2{6V(&L_60T @)6M6tTel &M S
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55. Select the incorrectly matched pair

A) Initiation codon - AUG
B) Stop codon - UAG
C) Methionine - AUG

D) Anticodon - mRNA

S6UMMSLI QUIT(H B S W (3) 60) 600T60) LLI 55

CEHTBHO S (&S LD
A) QsTLES GmIui® - AUG
B) Blemmey GMIULI® - UAG

C) QS Cwmenfleor - AUG

D) er® 7 SMIWI®) - SN 2417.6T60r.6

56. Which one of the following 1s wrongly matched?

A) Transcription - Copying information from
DNA to tRNA.

B) Translation - Using information in mRNA to
make protein.

C) Repressor protein - Binds to operator to stop
enzyme synthesis.

D) Operon - Structural genes, operator and
promoter.

191 657 62 (1H 6 60TEU M Nl 6V
QUGBS UleTeTa!

6Tl SH6UMTSHL

A) LYW (H SS6V 1q..6T60T.67 -6V @) (B1H S
FHLEEFH T ETNg-5&  QFWS Hemen
H&HG6V(H LIS

B) Qumbluwily - Sr&  7.erer.gailev
2 @Tem SHHalemevll LweTU(BSH LTSS

2 (HEUME S H6V

O QULEH YOsld @W&SEH UGS Ler
(3) 60)600T [H S QB TH SH6T 2 MUSH emW
B 0I5 S H M

D) @UIMedT -  6emLoLIL LO[T LI 650 & 8561,

@) W &S5 &6 LoMmILD 2618 &6 LILITeoTSs 6iT

14
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57. Because most of the amino acids are represented
by more than one codon, the genetic code 1s

A) overlapping
B) wobbling
C) degenerate

D) generate

QU BLDLIMTEVITEDT llGeorm ySlevmigeT
RETMISH G GuMmuL L (DN&HG M WMBISETTeY
SOILULUU@BeuSTe, 2&&DIuIbh e

A) 6p60TGMIM(hH) 6260TM (3) 60)600T 6 S 606U & 61T

B) 261& 6LIT(h)LI60) 6L &6l

C) B\en &6 MILI6D 61 S 6T

D) 2_(H6UMTSH & LI6D 6L & 6T

58. In lac-operon, the “a’ gene encodes for
A) Repressor protein
B) Permease
C) Beta-galactosidase
D) Transacetylase
Gevs eeLIFMmenflev ‘a’ npusw SMlui( CF s
A) &S LJsLD
B) QU 8IGWwen
O UL Lm-GHeu&BCLmTFRICLE

D) Q. gmeiTery &FemL Geveny

59 All are practical applications of DNA finger
printing except one statement

A) To solve paternity or maternity dispute

B) Analysis the inheritance pattern of genes
through generations

C) Protection of endangered species

D) Improve tools for data analysis
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R FaMHenMs S6lT NS SILD 19..6T60T.6] BFeM &
2155 L_60l60r HemL(Lnem ML LILedTUM(H ST L&D

A) BT VLS SHenSmW SILnmentlsH @D
Vr&&enersHeh8 & Se) &Memlis e

B) Hemev(LnemmSserfledr euLBlWIMSS 0T LISTDI& & 61T
SLESLULMGaMS LUGUUITWE Q&FW&S60

O) 2llhg e 2 ullifleormigerleor LIMEISMTLIL

D) &6 5606l 316 Q& W6eUSM& 60T
Smallsemner GLhU (h & SIS 6V

60. Select the two correct statements out of the four
(1—1v) statements given below about lac operon.

(1) Glucose or galactose may bind with the repressor
and nactivate it.

(11) In the absence of lactose, the repressor binds with
the operator region.

(111) The z-gene codes for permease.
(1v) This was proposed by Jacob and Monod.
The correct statements are

A) (11) and (111)

B) (1) and (111)

C) (11) and (1v)

D) (i) and (ii)

15

(i) &EH&HC&HIMeN

(iv) @&
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Gevd umer UMM GG QSMTHIGSLUILIL (H6T6rT
BT (i — iv) Fammusserley, @nevor(h &flulmeor
FDDHMETS CSTH0OSH (B S5 LD

3|6V6V S G&HVSHGLITEN
3L &G L 60T LN60r600T 5 Sl 460 Q& WP &S &
Q& LIS 60T m 60T.

(i) Geu&BLMe @evevms Blemevuley, QWS

UGS W LT QL5H5 G enetoTHmS.

(iii) z LD LISISSET QUITLAIGUIEN QBT 556558 M6oT

SDIWIH Hemens G\&smenor(h6Temsor.

CRE&HML  LMmMIWD GLmGeorm(h)
2L HCUWITTITEV (LETQ LMW LILIL L &I,

Frflwmenr Jammiser

A) (i) LOMHmILD (i)
B) (i) LoD (iii)
C) (ii) LDHOILD (V)

D) (i) b (ii)

YouTube/ Akwa Academy
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